Matrices Worksheet 2

Row operations:
1. -5     -1     0     -1		         -5     -1     0     -1
              2     -3     4     7          
               3     3     1     9			          3     3     1       9

2. -4     6     4     0			  -4     6     4     0
              2     -7    -8    0			   2     -7    -8    0
              2     -3    1     -7     

3. 8     2     6     5			  8     2     6     5
             7     1     8     4			  7     1     8     4
            10   2     -6    2     

Put into augmented matrix:
x + 2y – 4z = 3
y + 5z = 6
2y + 11 = -5
Put into row echelon form:




Use backwards substitution to find the solution:


Put into augmented matrix:
X + 6y = -2
X + 5y = 4
Put into row echelon form:




Use backwards substitution to find the solution:

